Intermediate 2

Whe Am 12 Cluss

| am greater than 20 but less than 50.
| am an odd number.

The difference between my digits is 0.

Who am |?
@ THINK

Answer: | am the number 33.

| am the number that tells how many wheels there are
on four tricycles.

Who am 1?

@ THINK

Answer: | am the number 12.

If you skip count by twos you will land on my number.
| am less than 20.

If | was doubled, | would equal 16.

Who am I?
@ THINK

Answer: | am the number 8.




Intermediate 3

Whe Am 12 Cluss

| am less than 30 but greater than 20.
The sum of my digits is 10.

Who am 1?

@ THINK

Answer: | am the number 28.

| am 3 more than the number of eggs in one dozen.

Who am 1?

@ THINK

Answer: | am the number 15.

| am an odd number.
The sum of my digits is 12.

You will land on me if you skip count by 5’s.

Who am I?
@ THINK

Answer: | am the number 75.




Whe Am 12 Cluss

@ THINK

Answer:

@ THINK

Answer:

@ THINK

Answer:




